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25. The main folklores of |
(a) Darun, Awadhi,‘aBra]
(b) Karuna, Bhakti, She
Y (¢) Drﬁpad, Bréj, Karun
(@ Birha, Chaiti, Dho

(@) Jagdishp

A

Which one among the following is NOT

correctly matched ?
Provision

(a) Citizenship

(b) The Union
Territories

(c) The
Municipalities

(d) Elections

Part of the
Constitution

Part — 11

Part — VII

Part-IX A o

TR A FREM 3N, % Feforiea & &

WE?
(a) FETER
(b) 3TET

(c) WW\E{{{
(d) ST

Fret i @ 9 T R Tl 7
Tay= S
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e two statements, one labelled
and the other as Reason [R) :
[A) : The executive powers of the

of the Parliament and the laws applied
e state.
ason (R) : The government of India can give

cessary direction' to the states by using its
utive powers.

~ on the ground
2 of defection

B Union, State

~and Concurrent

ercised to ensure the compliance of *

the correct answer from the codes given

30.

31.
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a country exports more goo
apital. '

ect answer from the codes given
™

d R are true and R is the
xplanation of A

' A and R are true and R is not the
ect explanation of A

( s true but R is false

- (d) Ais false but R is true

/

34. Which of the following statement about green
bond is NOT true ?

(a) Green Bond investment is only for
climate friendly projects

(b) Green bonds were first introduced by
European Investment Fund in 2007

(¢) Green Bonds are Financial Market r
Innovation Sl

(d) Green Bonds are fixe




e following Defence Ex

s in different years.

PO and their 35.

Venue

. Chennai

. South Goa
. Lucknow

. Hyderabad




drogen and moisture

Which of the following is a natt
hardest substance on the earth ?

(a) Graphite :
: (b) Wurtzite boron nitride
(c) Iron
(d) Diamond

for locating submerged objects i
~ (a) Audio meter (b) Gal
) Sextant (d) Sonar

“Ramsar Convention” is related to

(a) Climate change

(b) Pesticide pollution

(c) Ozone layer depletion
(d) Wetland conservation

Match List — I with List — IT and select the correct
answer using the codes given below :
List -1 List - II
A. Vitamin K . Wheat germ 011
B. VitaminD . Lemon A

C. Vitamin E . Cod-liver oi]
D. Vitamin C . Alfa-alfa
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ollowing events :
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rren Hastings became India’s Governor.
ct the correct chronological order of the

ve events from the codes given below.

des :
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50.

(@) ]
[}

51.

Consider the following battles and 2
in chronological order.
1. Battle of Kannauj
11. Battle of Chanderi
111, Battle of Talikota
IV. Battle of Chausa

Select the correct answer from the code given

below.

Codes :

(a) L 1L, IV, III () I, 1V, L 11
(©) IV, IL, I, III (@ L1V, 1L II

Arrange the following events in chronological
order and select the correct answer from the
codes given below. °

1. Gandhi-Irwin agreement

2. Poona Pact

3. Declaration of complete National
Independence

4. Civil Disobedience Campaign

Codes:
@) 3,4,1,2 (®).2,1,4,3
(©2,1,3,4 d) 48,1,2
Match the List — 1 with List — Il and select the
correct answer using codes given below :
List -1 List - IT
A. Indian 1. Anand Charlu
Association
B. Poona 2. Surendra Nath
Sarvjanik Benerji
Sabha
C. Bombay 3. Mahadey
Presidency Govind_{-;‘ ade
Association :
). Madras Mahajan 4. Pherozshak
Sabha Mehta
Codes : &
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B
~ 53. Who was the compiler of the “Imperial Cletias
. . (a) Colin Clark £’
- (b) William Wilson Hunter

Elliott

establishment of Supreme
ent is /are correct ?

t Calcutta was A

e Regulating Act of 1773.
e first Chief Justice of

answer using codes given

(b) 2 only
(d) Neither 1 nor 2

e tag used on certified seed

(b) purple

g(c) white (d) golden yellow

~ Which one of the following is correctly matched ?

Cooperative — MK Gandhi
- Movement
(b) Etawah Pilot  —  Albert Mayer
J. L. Nehru

Vinoba Bhave

service of the country
rtnership model in

OT correctly matched
OT comectly Baie
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h h reference to Deposit Insur
tee Insurance Corporation

g statements is/

are COITec

Iy
1

_subsidiary of Reserve Bank of I ,j
t upto Rs. 5 lakh are insured
correct answer using the co

y 1
1 and 2

_ 4 soudy

(d) Neither 1 nor 2

"Match List — I with List — 1T and select the correct
answer from the codes given below.

List-1
(Bank)
A. Indian Bank
B. ICICI Bank
C. CITI Bank
D. Saraswat Bank
Codes :
A
(@ 1
(b) 2
(c) 4
(d) 4

"\Sr;-.t T

List - II
(Type)

. Foreign
2. Cooperative
3. Private

. Public




29 Which of the following 3 R
~ business ? & 18 a social objectiye of

~ (a) Innovation

~ (b) Employment generation
) Business coordination

(d) Risk management

ording to 2011 census among the followin

‘es., vyhich one has the lowest level of
sation ?

dhra Pradesh  (b) Haryana
1zoram (d) West Bengal

arawa Tribe” resides ?

nachal Pradesh

e des given below.
List - II
(Mineral)

. Zinc

. Uranium

. Iron-Ore

. Coal

b% which of the following
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Tropic of cancer does NOT c
following State ? \
(a) Tripura M) C

(c) Manipur d)

Match List — I with List — II

from the codes given below. b
List -1 List-II
(Country) (Capital)

A. Myanmar . Hanoi

B. Combodia . Vientiane

C. Vietnam . Phnom Penh

D. Laos . Yangoon

Codes :
A

(@) 1

(b) 2

(c) 4

(d) 3

Match the List — I with List — I and select the | 9.
correct answer from codes given below. ‘

List-1

(River)
A. Shatt-al-Arab
B. Paraguay y

-




(b) Nagaland
(d) Assam

SR
lue Revolution” is related with the following
) Food grain production

~ (b) Oil seed production

~ (c) Fish production

7 ng was the theme of
d on 29" June 2020 ?

ent Goals

R ———SS,
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78, Which Bollywood actress received the* ‘
Award in the year 2020 ? v

In January 2020, how many “Padma Vibhus
were conferred Posthumously ?

g (@) 4 (b) 3

= () 2 d 1

Who has been honoured by the International
Olympic Committee with the “Coaches Life
Time Achievement Award 2019” ?

(a) Ravi Shastri

(b) Pullela Gopichand

(c) Prakash Padukone

(d) Sunil Gavaskar

International Mother Language Day is
celebrated on

(a) March 20 (b) January 25

(c) February 21 (d) December 21

“Operation Vanilla” launched by Indian N
in January 2020, is related to which on
following ? 7
(a) Disaster Management -

(b) Oil Exploration il

(c) Anti-Terrorist Ope
(d) Coral Reef Conse

Joint Military
2020” was e,




ARPET is coded as TCEAPR, then the code

LNOINTAA

A train is running 3 minutes late and further
B itis gettiqg delayed by 3 seconds per minute.
After how many minutes this train will be
- delayed one hour ? ‘
~ (a) 1140 minute

~ (¢) 1160 minute

(b) 1150 minute
(d) 1800 minute

was Sunday, then what was
uary 2001 ?

(b) Wednesday

(d) Friday

ed to “Reality” is the same way as
lated to which of the following ?

(b) Truth

(d) Correctness

B 2 e

= .0 e

85.

86.

87.
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TCEAPR foran wman ,
7 foran sRm

L8
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(¢) LNAANTOL1

(d) LNOINTAA Y

3
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(a) 1140 firre
(c) 1160 e

(b) 1150 fiFe
(d) 1800 fiFe

fordll w fAftea e w1 § IR HE = 41 ok
SHE = 49 & a9 THEM fras sust am 2 "
(a) 62 (b) 90

(c) 64 (d) 56

gfe 3 feder 2000 N WER o1, @ 3 @ 2001
= w-a1 feT ar ?
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have same I
(a) 9
(c) 11

(a) Agra
(c) Unnao

When was the State Higher |
established in U.P. ?

(a) 1990 () 199
(c) 2000

Which one of the following pairs is N )
matched ?

(a) IIVR
(b) ITPR
(c) IVRI
(d) IGFRI

Which one of the followin
matched ?

(a) Hem or lace wo:

(b) Bra




Where are Buxa Tribes living in Uttar Pradesh 2
) Bijnor (b) Balrampur
Shrawasti (d) Chitrakoot

NOT correctly matched
India ? '
—  Part-IX
—  Part-IXA
— Part-IXB

5L Part AX

: g is NOT correctly matched ?
13 Article

Art. 17

Art. 23
Art. 25
Art. 29
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103. Inrecently announced ce:
in which among the following’
has been decreased in comp:
2019-20 ?
(a) MGNREGA
(b) Ayushman
(c) Mid-day Meal Scheme ‘
(d) National Ganga Cleaning Scheme

Consider the following measures that RBL
uses to control inflation in the economy.

1. Increase Bank Rate

2. Increase Cash Reserve Ratio

3. Increase statutory liquidity Ratio én

4. Purchase of government securitieg:

Select the correct answer from the code:
below.

Codes : g
(a) Only 1 and 2 (b) Only ?,
() Only 2,3and4 (d) Only

e

Which is the first m
Calendar ? Ll
(a) Phalgun

(c) Paush




, the vertical structure of the at
In t : mosph
‘which one is the lowest layer ? &

(b) Mesosphere
(d) Thermosphere

T(a) Stratosphere
~ (c) Troposphere

. Which one of the following acids is used in the
car-batteries ?

(a) Acetic Acid
- (b) Hydrochloric Acid
() Sulphuric Acid

ge

n Atmos
) Atr

(l;) Sublimation
ization  (d) All of the above

e following colours of white light
d by the glass prism ?

(b) Red colour

(d) Orange colour

abered heart is found in
: (b) Birds
~(d) Pisces

~ h . . . t
@ﬁmmmder in Chief of the Rajpu
aharana Pratap in the Battle

(b) Hakim Sur ‘
v (‘i' - (d) Mahmood Lodi

RSN TS

S
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109. Frafafaa an<ii # & fre ava =1 s SR-Sefa
dfrmaman g ?
(a) THiReH v
(b) TSNS 3
(c) TTHIH A
(d) 3w v

110. 37 % Ry e < el # depfora o ol &
(a) AT SRV H
(b) FESISH = H
(c) ATerefls araTaRor ¥
() FEEA SraTer §

111. 3w Igiedl $ g & o ffafea & @
_ Fa-di gk IgEf A ? ¢

(b) Hfemr
(d) FHifemR

(a) IM=EA (b) SeEdTH
(c) Toreeefisto (@ IR @t
112. e v # U Frferfea @ 8§ @ -1 T
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(a) & @ (b) W T
() S T (@ @
113. & 31 Kt St R
@@ AT
(b) et & forespeur §
(c) Hat % farspdor &
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reference to “the causes of the success of [ 11
itish and failure of the French in India” which
of the following statement is/are correct ?
~ 1. Getting huge wealth and manpower from
conquest of Bengal by British.
2. Naval superiority of the British.
Select the correct answer from the codes given

below.
Codes :

(a) Only 1

(b) Only 2

(¢c) Both 1 and 2
(d) Neither 1 nor 2

0
matched ? ;
Acts
(a) Prevention of Sedi

Meeting
(b) Explosiy




Admit Carg

&

. Which Ruler of Delhi Sultanate declared hi
B mself

~ (a) Balban

~ (b) Alauddin Khilji

~ (¢) Mubarak Khilji

(d) Muhammad bin Tuglaq

Which one of the following was NOT associated
with Indian National Army (I.LN.A.) ?

(a) Rashid Ali (b) Shahnawaz
. () B Sahgal ~ (d) B.C. Dutta

following statement is NOT true
it India Movement of 1942” ?

led by Mahatma Gandhi
was declared an illegal body
2 non-violent movement

spontaneous movement

‘ m ent of India Act 1935
‘ ndependence Act 1947
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119. foeeh o 3 fre v 3 1o e 1 “@elr”

it = fem o 2
(a) 9sA

(b) IEREH Raesh
(c) gas flaesh

(@) Fere, fom e

120. Fefoea & & $F oo R o (W) IR
WA A 7
(a) Wiig et

() f. ¥. gg=

(b) &S
(d) . €. <
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(a) THT Aqea TETeHT Wt g fomam

(b) FTF B TH FGIYTIH GEAT Gar fpam
(c) 7E TH AfGESH e A1

(d) T2 TF A5 ARe A

121.
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' (a) WIS =T gUR 1909
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 of the following is NOT correctly matched ?
Organisation Person
Young Bengal Henry Vivian
- Movement Derozeo
~ (b) Bahishkrit Jyotiba Phule
| Hitkarini Sabha
(¢) Theosophical Colonel Olcott
Society

(d) United Indian — Syed Ahmad
Patriotic Khan

Association

Which one of the following is NOT «

matched ?

Crop
(a) Wheat '
(b) Paddy LA




S

127.  According to Fortune India List of 500 ¢

Ompanies,

the biggest corporation/company in 2019 wag

() Indian Oil Corporation Ltd.
(b) O.N.G.C.

(c) Reliance Industries Ltd.

(d) S.B.L

ican based think tank
eport 2020, which of the

Accordin, :

¥ 209 lakh crore.
argest economy of

e like Britain and

S
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B &
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A. Corporate tax
B. Income tax
C. Customs

D. Central Excise
Codes :

A B C
(a1 2
(b) 4
(c) 3
@2

ated source of revenue of | 130.

920-21. Match List — I with

the correct answer from the

List - II
(Percentage of
Revenue)

. 17 percent

. 18 percent

. T percent

. 4 percent




" ﬂ

..__ 135. Consider the following statements and select the
correct answer from the codes given below.

1. Rihand Dam is on a tributary of the Sone
river.

2. Hirakund Dam is on Mahanadi river.

% 3. Tungabhadra project is a joint venture of
- Andhra Pradesh and Karnataka.

_f- 4. Maithan Dam is on Barakar river, a
R’ tributary of Damodar river.

Codes :

(a) 1, 2 and 3 are correct
(b) 1, 2 and 4 are correct
and 4 are correct

3 and 4 are correct

(b) 2008
(d) 2010

f the following is NOT correctly

Iron-ore
producing area

. —  Karaganda
3' A2 Krivoy Rag
. —  Normandy
- —  Pyreneas

ollowing is correctly matched ?
Region — Italy
Region — Germany
Region - France
trial Region — United
Kingdom
following countries NOT
/ témeoast of Africa ?

‘ (b) Botswana

~ (d) Angola

te is located in
(b) Bhopal
(d) Nagpur

TEJAS -1

135. forfeiiten %ot w R Hifve @ A fo m
e | FE W H w71 AT |
lmﬁﬂtﬁq?ﬁﬁ@mmq{p
2. EFe 1Y TEFd W R |
3. TS TRASHT AN T eifesh o1 S

ITHA 2 |
4.ﬂu§ﬁum?ﬁﬁ®mﬁm
WwR

%

. (@) 1,23 357
() 1,234 T 2
(1,83 45d g
@ 1,2 334TH 2

136, YRA GH g U gha e (W) B
T g% o
(a) 2007 ¥ (b) 2008 &
(c) 2009 & (d 2010% °
137. Frefafes § ¥ 919 o gafea T8 e ¢
™ g 3Terh IaATE 8
() FIGEH = FRATUST
(b) T - frEmm
(c) St = AAUE
(d) B = e
138. Prfifee f @ 9 o wd gakw@ @ ¢
(@) 7 st wem - wl
{b) T =i wew = aﬁ:ﬁ
(o) et ol g -~ %W
- s feren

139. 1

140. A

N adts
o



